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12971 | gy 2081 | W21 | pogn | 20O | ag gy | OFE N 2020TT | ypg gy | O 12008 TT ) g9y | ORI 2SI wrar | mm | dpmm | ww | mm mm| %7 | mE | mE| B0 | BB RS

ma |V BS | owa PR BE L ma COSSV ER L ma YOSV BD | wma [P BE | mki | mesks | sk | S| R | mIH BRI | BIORM | SSARH | M| FRORH

(=) BAT™ NI BIRE R TR 53 53 53 53 53 0 0 0 0 0 0 0 0 0 0
fliEg BAM AN BFRE R 291 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
fliEg BAT NI AR E R 3R 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
fliEg BAT AN BERE R 4R 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
filirg =E=i] AN BERE R FerEd 60 60 60 60 52 8 0 0 0 0 0 0 0 0 0
fliEa =E=1i] NI BERE R BRI 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
(=) =E=li] KRECZHR 3P FG AR 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
(=) BA™ KRECZHR ABETERAR - 3PS B R 96 96 96 96 0 0 0 96 96 0 96 96 0 0 0 0
fliEg BAT KRBT 4 BRI 1R 48 48 48 48 0 0 0 48 48 0 48 48 0 0 0 0
fliEg AE™T EEEARERER mEHEkk| 1nSR 22 22 22 0 0 0 22 22 0 22 22 0 0 0 0
fliEg AR EEEALLERER IEHER| [ HR 35 35 35 35 35 0 0 0 0 0 0 0 0 0 0
filieg A EREAKRERER mEFEk| IR 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
(=) AHET EEZN £LCRE ¢ LRk |EREERE 29 29 29 0 0 0 29 29 0 29 29 0 0 0 0
=) AR EREAN €#LCRe ¢LFkR [ NEEELERER 29 29 29 0 0 0 29 29 0 0 0 0 29 29 0
i AR EREAN @t ks £ LRk |[MIREET7RE 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
fliEg FAET EREAN RERKER RFRE | —BHEHR 24 24 24 24 23 1 0 0 0 0 0 0 0 0 0
fliEg NEBEEHN|BEINEERRARBERE |—BRFR 10 10 10 10 10 10 0 0 0 0 0 0 0 0 0 0
fliEg X B AR BT | 7B T [ R AR R R PR B B | BB 28 28 28 28 0 0 0 28 28 0 28 28 0 0 0 0
filiEg S B BKIRAT | A0 F IR B PR T SpEFERER 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
i SR ERAAIRAT | A0 F 2 B P iRl 2B angmE (ICU) 12 12 12 12 11 1 0 0 0 0 0 0 0 0 0
iliFg SEEERARE | A0 E R R 2P RIR 14 14 14 14 14 0 0 0 0 0 0 0 0 0 0
(=) S EPAARAT | A0 F 12 B PRI eI 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
fliEg L EPAARAT | A2 X0 F I By P R AR IR 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
fliEg SEABATARET | A0 FE R E P RIHET ARETERIR 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
fliEg SR BKTIRAT | A0 F R B P RLIR T SIEES 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
flirg SR ERAAIRAT | A0 F I B P iR SR FRRIR 37 37 37 37 30 7 0 0 0 0 0 0 0 0 0
fliEa SERERAAIRAT | A0 E B B P iRl BT 7 HRE 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
i 4 FH ER 4€ R T | BE sk At R b AL < ARFE 4 Br T [ R 1R 30 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
i SCHED)IGET |EREA CRE JIIBIIARKEER |[220h 54 54 54 54 31 23 0 0 0 0 0 0 0 0 0
g SEEER) IR BT | R A2 FR AR R ) || IR os Bt — R 30 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
fliEg SEEER )|k BT | ) R A2 AR AR BR) || e e RERR 28 28 28 28 0 0 0 28 28 0 28 28 0 0 0 0
fliEg FEBARA AKRITERRRABRAZRER |BEFRR 35 35 35 0 0 0 35 35 0 35 35 0 0 0 0
filiEg AR | AR E R RRRAGFHRE | —BHRE 55 55 55 55 55 0 0 0 0 0 0 0 0 0 0
& WEMmEER | B I RiEkt EERIK 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
& WETEFER | RIRFERHR EERE 52 52 52 52 0 0 52 52 0 52 52 0 0 0 0
(= WEMEFEX | R KFHR 75 6 B s 1% (NICU) 15 15 15 15 15 0 0 0 0 0 0 0 0 0 0
g WEREFEX | HILKF R 1 7B 23 23 23 23 22 1 0 0 0 0 0 0 0 0 0
g WEREFERX | HILKF T 751 6P AR 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
= WATEEX | R KF R 75 1 b RAR 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
(=) WAETEEX | RILKF R 75 1 4P AR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
s WEMEER | R KFH 751 2B AR 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
s WETEFER | R KFHT 751 1B 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
(= WETEFEX | AL KFHR 75 1 0B AR 49 49 49 49 49 0 0 0 0 0 0 0 0 0 0
e WEREFEX | HILKFHER 75 9P AR 33 33 33 33 33 0 0 0 0 0 0 0 0 0 0
g WEREFERX | HILKF T 78 9F& AR (HCU) 8 8 8 8 8 0 0 0 0 0 0 0 0 0 0
(=) WAETEEX | R KF R 78 8 B AR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
(=) WAETEEX | RILKFHE 75 7 PR AR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
e WEMEER | R KFH 75 6B s (GCU) 18 18 18 18 18 0 0 0 0 0 0 0 0 0 0
s WEMEER | R KFHE 75 b P& AR 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
(= WETEFER | R KFHR P4 PR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
e WEREFEX | R KFHR 75 3PP AR 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
g WEREFEX | HIEKF R B 1 B RAR 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
= WAETEEX | R KF R 1 BRI 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
(=) WAETEEX | I KF R 1 AREFRHE 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
s WEMEER | R KFH H13MERE 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
& WETEFER | R KFH 2R 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
(= WEREFEX | R KFHR 1 1BERE 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
e WEREFEX | HILKFHER 1 0BER R 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
g WEREFEX | HILKF T ORI 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
(=) WAETEEX | RILKF R e 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
g WAETEEX | I KF R EW = 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
s WEMEER | R KFH O RAR 38 38 38 38 38 0 0 0 0 0 0 0 0 0 0
s WEMEER | R KFHR BR6REE R (MFICU) 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
(= WEREFEX | ALK FHR RO RAR 37 37 37 37 37 0 0 0 0 0 0 0 0 0 0
& WAEREFEX | R KFHR 51 B AR (#an 3) 8 8 8 8 8 0 0 0 0 0 0 0 0 0 0
g WEREER | HILKF R R BERIR (and) 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
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H29.7.1 (252&3%1) 202571 | Ho971 (2(?2%.%1) 202571 | 12971 (2(?%.%1) 202571 | Ho97.1 (2355{?1) 202571 | 1971 Qgﬁ_‘%) O ma  me mm| B Be | EEw| BT BB FEEB| F | BE | He
RER B (E%) iSF= B (E%) iSF= B (E%) iSF= B (E%) {53 B (E%) SRR | IRERE | R PRE | TR EREE | IR ARE | TR PR B | MR | TR PR3 | R | S PR3 | IR R | fR PR 3K
L& WETmEEX L& E4 R AF ¥R 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
L& WEHmEER LA E4EHF SFyRE 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
L& WEmEER |LE E4EH 6F f & 52 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
L& WEmSER |LE E4E R Rt 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& EmSER |LE E4E MR 8F iR 52 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
& WEMBERX L& ELE MR OF iR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
1= WEMBERX L& EE Rk 104" 54 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
=) EemEER L& E4 R 11FRHR 29 29 29 29 29 29 0 0 0 0 0 0 0 0 0 0
=) WEMBEX LB EL IR AFEFAERE 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
L& WEHmEER |LE E4EH OF AR E 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
b& WEmSER|ILE B4R BFIEMOFEfAEE 18 18 18 18 18 18 0 0 0 0 0 0 0 0 0 0
& WEMSER|EREABTAS KERGR — IR 53 53 53 53 53 53 0 0 0 0 0 0 0 0 0 0
& WEMBER|TI—&BE F1RE 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
L& WEHmBTER|TO—KER F2RE 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
& WEHmEER | To2—REE R 36 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
= e HEER [hraics A Es s Lank [ NERy Y 10 10 10 10 0 10 0 0 0 0 0 0 0 0 0
W& BB ER phuraics esErteeews wask |55 1R 20 55 55 55 55 54 1 0 0 0 0 0 0 0 0 0
Wwa B TEER mirais A SEss ey Lask |51 5E3E 56 56 56 56 56 0 0 0 0 0 0 0 0 0 0
Was B TEER |mirais A mEsisieeens wask |5 15E4ME 50 50 50 50 47 3 0 0 0 0 0 0 0 0 0
1Wa e TEHER [mrais A eErg e Emn wask |51 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
& BB ER [harrBs A bREms e wask |5 253k 39 39 39 39 35 4 0 0 0 0 0 0 0 0 0
=) BT EER |mirais A hsERseEens Lank | 52540 55 55 55 55 51 4 0 0 0 0 0 0 0 0 0
L& B THEER [mram: A beERisasess uank |5 2mEoRE 53 53 53 53 51 2 0 0 0 0 0 0 0 0 0
i) B MEER [ruaics sosEruteeews wank |55 3RIR4RS 56 56 56 56 52 4 0 0 0 0 0 0 0 0 0
b& e mEER | FMERRHER 19 30 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
& WEmSER|EHBICELRR ERNRE 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
& WEmEER | BB IICELHER ICU 7 7 7 7 7 0 0 0 0 0 0 0 0 0 0
=) ETBTER|EWMEIICESRER NICU 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
1= IETBTEX|EWMEIICESRER GCU HCU 15 15 15 15 15 0 0 0 0 0 0 0 0 0 0
L& WEmHEER | EHEIICELRER M-FICU 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
L& WEmHEER | BB IICELRER REE2RERIR 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
L& WEmHEER |EHEIICELHER A BR3P 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
& WEHmSER|EHBICELRR AEEABERIR 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
& WEmEER | BB IICELHER Pk EE 2B R4 27 27 27 27 27 0 0 0 0 0 0 0 0 0 0
l& WETEER | BB IICELFER Bk EE SR AR 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
=) WEemEER |EEENV TS LERR | KR 47 47 47 47 47 47 0 0 0 0 0 0 0 0 0 0
& WEMSER|EREIANVAESR LERR |[BRERE 46 46 46 46 0 0 0 46 46 0 46 46 0 0 0 0
W& WETEER |ERaBELtFEsEa2 Tiawmk |4RILRE 40 40 40 40 35 5 0 0 0 0 0 0 0 0 0
L& METHER |[ERaBatEaaEas iaxmk [4EFERE 43 43 43 43 40 3 0 0 0 0 0 0 0 0 0
W& NETEER |ERaBELFESEAS ThakAR |DREILRIER 38 38 38 38 37 1 0 0 0 0 0 0 0 0 0
L& BT HER |[ExABELFALEA2 TiAKHk [OREERE 53 53 53 53 50 3 0 0 0 0 0 0 0 0 0
W& NETSER |ExaBaLFEsEae TEAKER |OREILRHER 39 39 39 39 36 3 0 0 0 0 0 0 0 0 0
=) ETHFEX |ERaBatsmasss BitaFmk |FLIRESE A&t 42— 47 47 47 47 42 5 0 0 0 0 0 0 0 0 0
& IIETBTEX |ERABELFEAEAS ThAFRER | FEV 42— 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
W& ETEER |ERaBatFEsEa2 Tiawmk | DR 25 25 25 25 25 0 0 0 0 0 0 0 0 0 0
& WETSER |ERABELFRAEAS TThAFHRR (4P EE 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
& WEHmSER|EEEALRSE BHA LR —KEE 58 58 58 58 58 45 13 0 0 0 0 0 0 0 0 0
& iEmEFER |JRILE YRR FEIR/E 33 33 33 33 33 0 0 0 0 0 0 0 0 0 0
L& iEHmBFER |[JRILE YRR FARE 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
=) WEMBTEX |JRILE R HEOHE 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
L& WERFER |JRILIEHFE FORRIE 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
L& WEMBFER |JRILEHEHE B7RE 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
& WEMBER |/ LXBESIIEEERE 4RSI 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
& IEHMEEX |/ LAREBLSIIE KRS KR SRS R 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
= WEFEER |( LRARBEIISHRERE Sl 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
Wwa A TEER |hraisl soseEeews sy sonk |4 SRR 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
= BT EHER |rufrkzs $HERERSEE Rk | OFE B fRHR 36 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
=) WMETEER [praurs shamEeewn ysomns | SRS 61 61 61 61 61 61 0 0 0 0 0 0 0 0 0 0
W& WA THEER [arasosn smemseens wrsem | SRR HRE 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
s T HER |humrses $hErERSE oxens | S iR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
L& WEMEER [wuausl sesmrzews wissems |45 78R 55 55 55 55 55 55 0 0 0 0 0 0 0 0 0 0
= BT EHER |rumkss »HERERSEE wisenk | D PRI 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
= BT EHER |pumss $HERERSEE Rienk | DL BRI 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& B HEER [auriss soaikcems 1ok | O 78RR 45 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
W& BT ERER [rurrss Soaikeems wissoss | 7 78RR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
L& WETEER [arauis sosigeewn s | 7S BRER 49 49 49 49 49 49 0 0 0 0 0 0 0 0 0 0
= WEREER |auauss soergzews mrsems |HCURR 8 8 8 8 8 8 0 0 0 0 0 0 0 0 0 0
& e hmEER | FEILEHEE D2 49 49 49 49 49 49 0 0 0 0 0 0 0 0 0 0
& WEMBER|EILE R D3 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
& WEMBER|EILE R D4 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
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RER B (EE) iSF= B (EE) iSF= B (E%) iSF= B (E%) {53 ﬁﬁ (E%‘f) SRR | IRERE | R PRE | TR EREE | IR ARE | TR PR B | MR | TR PR3 | R | S PR3 | IR R | fR PR 3K
= s HmEEX | FEILEHET D5 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
= WEmEER | FERER bl 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
= WEmHFER |LE P IR I AIET 7R 30 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
L& WEmSER LA F TR BEERR 30 30 30 30 0 0 0 30 30 0 30 30 0 0 0 0
& ILETEEX|—RMEEARTSE NEMEBRR | =RAm R IEMgERH01) 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
= WEMEER | —BRHEEABTS AR s (EEeER®R1) 41 41 41 41 0 0 0 41 41 0 41 41 0 0 0 0
W& IWEMRX |[MEEN=HER HCU 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
W& IWEMRX |[MEEN=RER 27551 45 45 45 45 45 41 4 0 0 0 0 0 0 0 0 0
W& lEMRE L& EN=HEEE RES15 56 56 56 56 56 49 7 0 0 0 0 0 0 0 0 0
= IEMRE L& EN=mEE REiiPesp 56 56 56 56 56 49 7 0 0 0 0 0 0 0 0 0
L& WeEmRRK L& FfEMN=REE AR 57 57 57 57 57 51 6 0 0 0 0 0 0 0 0 0
L& LEMRK L& RENERER APERIE 60 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
= ILEMRE |[IERN=RER 6 R AR 35 35 35 35 35 35 0 0 0 0 0 0 0 0 0 0
W& WEMRE |EFEEANBS HERRE R 48 48 48 0 0 0 48 48 0 48 48 0 0 0 0
W& ILEMRE |EREANES LHRKRRR 75 2P R AR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
= IEMRE |EREANBS LHRKR B 2BE AR 27 27 27 27 27 0 0 0 0 0 0 0 0 0 0
= ILEmRK |RrEv)=vY BEERRR 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
=) WEMRK |RyrEd)=vy — SRR 38 38 38 38 38 38 0 0 0 0 0 0 0 0 0 0
= ILEMRE |EEEAN REENERRE — R 54 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
W& WETRX |sHesAsthinemBlaERest s— |SMEHEAE 16 16 16 16 16 16 0 0 0 0 0 0 0 0 0 0
W& ILETRE |sura mrhEamBLamRsmts— | SEEHCURIE 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
= UETRX |snenisFrnamBilaEBsmts— |4FERE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
=) IEMRE |sweninrnaanmlsEREses— | DR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
= IEMRE | REEE RPRHEE WA PR ZR LR R 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
L& IWETRX |AKFREANSHELE RS RHRE | BRE 55 55 55 55 55 48 7 0 0 0 0 0 0 0 0 0
& WEMRK [ARMEEASHEEHERKE | KRR 39 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
L& WEmERER |JEr EXARILT R I s 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
W& WEmERBR Sy EXARIL < U REE I =8 37 37 37 37 37 37 0 0 0 0 0 0 0 0 0 0
W& WETENBR Sy EXARIL T KRR JIIE=E5 17 17 17 17 17 17 0 0 0 0 0 0 0 0 0 0
= WEmERBX s EXARILI VKRR ViR 26 26 26 26 26 26 0 0 0 0 0 0 0 0 0 0
= WEPERHR |y R ALY EER BT 7R 20 20 20 20 20 20 0 0 0 0 0 0 0 0 0 0
L& wamEES K| B &RRALSHhk ERR 63 63 63 63 63 18 45 0 0 0 0 0 0 0 0 0
& wemEES K| B BEKRILE F2RIR 72 72 72 72 72 60 12 0 0 0 0 0 0 0 0 0
= am=EESK | ISRKE 4BERIR 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
W& am=ESK | ISR E TRy 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& WamEERSX | ISR BB R 50 50 50 0 0 0 50 50 0 50 50 0 0 0 0
=) WamERsE | < ARk — R 20 20 20 20 20 20 0 0 0 0 0 0 0 0 0 0
= amEREX | AL ER R X Rk BAJRIR 53 53 53 53 53 0 0 0 0 0 0 0 0 0 0
L& amERE X | BRI ER R X 2Rk 4ANfRHR 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
W& WaEhHEEEX | RILERZER K FREE 4CHRHE 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
L& amERS X | BRI ER R X EHERE S5AfRHE 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
W& hamEnS R | RALER FER X EHRR 5ByRIR 60 60 60 60 58 2 0 0 0 0 0 0 0 0 0
W& hamENS K | AL ER FER X EHRR S5CHRHE 52 52 52 52 49 3 0 0 0 0 0 0 0 0 0
W& WAETERFX | RILERFER K EHREE 6BYRE 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
W& =S X | AL ER R X PRk 6CHEH 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
& am =S X | A ER R KRk ICUyR 1R 8 8 8 8 8 0 0 0 0 0 0 0 0 0 0
& WATERBK Rl AR skl eERt s— | B FERE 24— 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
s WETERSR [ruais AETEksileERty s— | B FEREV2—(NICU) 6 6 6 6 6 3 3 0 0 0 0 0 0 0 0 0
& BT EME X [z aBek A B RS LsERt 24— [ /NRRE 41 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
=) WA EHB X | ais A B rskesilaERt 21— | 2R iR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& AT ERE K | mics AE ARSI ER 24— | 75 2RI 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
& A THESE K | Bcs ARSI e Bt 5 — | 5 3P R 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& WA EME X |#hiTBoE A BRI SIS Bty 42— | 78 SRERIE 52 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
& WETTEME X |hiTBoE A BRI EILS ERty 42— | A RS RIE 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& WATERBK [ aBE AR RRsHILaER v 5— | FH4 PRI 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& WA EHBK [#raiE A TEEE Sl aEEt 5 — | 75 DR E IR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
=) WA EHBK |#rais A rskesilaErt 2— | R REIE 52 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
W& A TSI X B A E AR S E e 24— | 7 SRR 49 49 49 49 49 49 0 0 0 0 0 0 0 0 0 0
s WA HERE X [ T Bk A BRI A EE L 4— e R Aty 4—hakal) 12 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
s AT EHE X | TEcE BT ERERILa ER L 4 — | Rala e 4— (e kad) 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
& WETEWB X | TBE A EFRERIIEER 4 — | ekt 2—(EEg+4) 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0
& WA EHHK [#raiE A TEEE S e ERt 2 — | B DR R 38 38 38 38 38 37 1 0 0 0 0 0 0 0 0 0
& WABTEEBK [mrais AR ERsLaEEt s— | B 5 (SCU) 3 3 3 3 3 3 0 0 0 0 0 0 0 0 0 0
= WAHEHBK | #rams A rskesil et 2— | B O R iR 43 43 43 43 43 42 1 0 0 0 0 0 0 0 0 0
W& wemEESX | A YRRk 291 58 58 58 58 0 0 0 58 58 0 58 58 0 0 0 0
= WETEREK | &Rk 3R 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
Esy WEFEHBK |AsuEsMaTER e s—ar -7k |BIE6RHS 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
& BT EHBK |AsuEsMatER e s—at -7k | CHE2 [ 21 21 21 21 21 21 0 0 0 0 0 0 0 0 0 0
& BT EHEK |asums MlatERe s—iat -k |Big2[EICU 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
& BT EHEK |asuEs MiaTERe s~k | B3R 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
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H29.7.1 (252&3%1) 202571 | Ho971 (2(?2%.%1) 202571 | 12971 (2(?%.%1) 202571 | Ho97.1 (2355{?1) 202571 | 1971 Qgﬁ_‘%) O ma  me mm| B Be | EEw| BT BB FEEB| F | BE | He
RER B (E%) iSF= B (E%) iSF= B (E%) iSF= B (E;%-“:) {53 B (E%é‘:) SRR | IRERE | R PRE | TR EREE | IR ARE | TR PR B | MR | TR PR3 | R | S PR3 | IR R | fR PR 3K
W& WATERBX |AasEsAlamERt s—iat—7o5k |BER3HEHCU 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
IS AT EHE K |AspEsAlamEsts—lat—7onk |BRE4RE 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
& WEFEHBK |AsumsAMatERe s—ar -7k |BIEE5HS 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
& BT EHBK |AsumsMatERe s—at—7omk |CHE T 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
& BT EHEK | a8 MatERt s—at—7vms | CHE2FEICU 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
& BT EHEK |asuEs MamERe s—at -7k | CHR3 [ 44 44 44 44 44 43 1 0 0 0 0 0 0 0 0 0
e AT EHEK |asuEs MamERe s—at—7vmk | CRE4A [ 43 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
IS AT EHBK |auumsianEre s—ar—7oams |CRE4REHCU 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0
=) WamERSE LS EN RN YRR 2B RAE 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& WamERSE L& ENHRNERER RIER 43 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
L& emERR | RILERERREE WKL B2tz 12 12 12 12 0 12 0 0 0 0 0 0 0 0 0
& EamERR | RILERZERKEE MWK SRR 61 61 61 61 61 0 0 0 0 0 0 0 0 0 0
& amERR | RILERZERKEZE MWK 4 AR 32 32 32 32 32 0 0 0 0 0 0 0 0 0 0
W& WETERK |RILERERRFENRRKR  |SEHER 68 68 68 68 68 0 0 0 0 0 0 0 0 0 0
& EmERK | RILERFERKEE KRR i IR 7R 26 26 26 26 26 0 0 0 0 0 0 0 0 0 0
e IWETERR |SEEREALES WABERI RS 3RE 61 61 61 61 61 0 0 0 0 0 0 0 0 0 0
W& WETERK |SEEREAGES UABERI R B4R E 64 64 64 64 64 0 0 0 0 0 0 0 0 0 0
& IIETEMK |REEBREALES UEBRNRHER| SRR 54 54 b4 54 54 0 0 0 0 0 0 0 0 0 0
W& WA TTERR |EfEEAHFATOES LA b |EERE 48 48 48 0 0 0 48 48 0 48 48 0 0 0 0
& WEMEMRR |EEEAER TS FARERER | —RFEER 27 27 27 27 27 0 0 0 0 0 0 0 0 0 0
& WEMEMRR |EEEAMER LS ARER |[BERE 25 25 25 0 0 0 25 25 0 25 25 0 0 0 0
=) U=k P N=1S E e TRV ICUCkan2) stk 10 10 10 10 10 10 0 0 0 0 0 0 0 0 0 0
L& EsmABR LA I ICU(HFE3) it 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
L& iEsmABR LA I HER HCUys#& 24 24 24 24 24 24 0 0 0 0 0 0 0 0 0 0
L& ismARBER L& I HERE NICUjx 1 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
& ismARBER L& I HE GCUfx# 12 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
& WEMAERX [UE T IR S BR AR 34 34 34 34 34 34 0 0 0 0 0 0 0 0 0 0
=) WERAERX [UE T ILHRT S Fa iR AR 39 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
1= s mARBER L& T I HE B B R 36 36 36 36 36 36 0 0 0 0 0 0 0 0 0 0
L& ismABR LA I O Fa iR iR 37 37 37 37 37 37 0 0 0 0 0 0 0 0 0 0
L& EsmABR LA I HER 7R R AR 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
L& EsmARBR L& I HER 7B PRI AR 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
& ismARBR L& I HE SRS R 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
& WEMARER [UE T IR S PR 43 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
L& WEMARERX LS T ILHERT OFE R 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
L& s mARBER | L& T I EE OFEFERAR 44 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
L& WemAAR | —RMFEALES LERE | 3FEER 18 18 18 18 0 18 0 0 0 0 0 0 0 0 0
L& WEmABR|—REFEALES LRk |[BE L 2—FE 50 50 50 50 35 15 0 0 0 0 0 0 0 0 0
L& WEmARER|—MEFEALES LRkt (ST ARE 17 17 17 17 17 0 0 0 0 0 0 0 0 0 0
& WemARAR|—MEFEALES ARk |(KZER77a=vb 9 9 9 9 9 0 0 0 0 0 0 0 0 0 0
& WemARAR|—REFEALES LArmHbt | 1HE 55 55 55 55 55 0 0 0 0 0 0 0 0 0 0
il& WemARAR|—BMEEAALES LRkt | 283 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
=) AT AR |A#HEEA SHEEHS REER |F92MEHRE 45 45 45 45 45 45 0 0 0 0 0 0 0 0 0 0
=) ILETABK|ASMAEA SHELHE RiNER |F3MHRE 45 45 45 45 0 0 0 45 45 0 45 45 0 0 0 0
& BT ARBK|ABMEEA SHELHE RiNER |FH4RRE 45 45 45 45 0 0 0 45 45 0 45 45 0 0 0 0
L& WEHmARBAR|LE TR+ FRkE 4BEARB(GCU) 23 23 23 23 23 23 0 0 0 0 0 0 0 0 0 0
& EemARAR L& R+ FRkE 4B AR (NICU) 12 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
& WEemARAR L& R+ FRGE TR ASR IR 41 41 41 41 41 36 5 0 0 0 0 0 0 0 0 0
L& smARAR L& R+ FRE 7PEBYR AR 50 50 50 50 50 42 8 0 0 0 0 0 0 0 0 0
=) WEemARBX L& R+ FRE ABEBYRER 49 49 49 49 49 44 5 0 0 0 0 0 0 0 0 0
L& WEHmARBR LA TR+ FRbk 4pgByE#ER (MFICU) 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
L& EHmARBER|LE TR+ FRkE SPEfRE 57 57 57 57 57 44 13 0 0 0 0 0 0 0 0 0
L& WEmARBAR L& TR+ FRkE OREARIE 46 46 46 46 46 40 6 0 0 0 0 0 0 0 0 0
& WEHmARBAR |UE TR+ FRE OREBYR R 50 50 50 50 50 42 8 0 0 0 0 0 0 0 0 0
& WEsmARAR L& R+ FRkE SRR 55 55 55 55 55 46 9 0 0 0 0 0 0 0 0 0
(IT= B TAE K [muamx A paEsse s Lamm: [f#2t02—(ARRyY) 10 10 10 10 0 10 0 0 0 0 0 0 0 0 0
= B HABRK |rurss A msEgsiesens wammk |45 BRI 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
=) B HARB K [rurs ssEmistesens wamss 4575 RE 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
W& B MABARK s pssEmsieeisn womssn | DS ERFE 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
= BT AB R [ruramsAmsEgwseews wamsk | D6 PR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& WEMAAR|EREAZTTFT HETERR|EESREAE 46 46 46 46 0 0 0 46 46 0 46 46 0 0 0 0
& WEmRAR|EEEAZTT HETERE|EEREBE 55 55 55 55 0 0 0 55 55 0 55 55 0 0 0 0
l& WEMABR|EREAZ+TT HETERERE|EERECHE 55 55 55 55 0 0 0 55 55 0 55 55 0 0 0 0
W& BT ABR [rrFEs A Brskgsluansgnk [B1— 25K 40 40 40 40 39 1 0 0 0 0 0 0 0 0 0
e WETABR [muralzABrmkEgslamasasmk |F2— 1EHE 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
& BT ABR |Riabs A Brakggilarmsask |F3— 1/RE 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
& B AR R | A Baksians mak |t d2pEiiE 50 50 50 50 45 5 0 0 0 0 0 0 0 0 0
L& WETIABRK [rFica A Brmkslams g |1 3RwEE 50 50 50 50 40 10 0 0 0 0 0 0 0 0 0
L& WETIABR [HrFEa AR rmkgslarms mnk |4 pEiE 50 50 50 50 44 6 0 0 0 0 0 0 0 0 0
& WETIABR [murfriss A Brmsgslamsgns R opEiE 45 45 45 45 41 4 0 0 0 0 0 0 0 0 0
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e o EE) R B (EE) fRF R B (EE) R o () R B (EE) FREREN | PR | TR BREK | TR ERE | R PRE | R PRE | PR3 | R BR R | R BR K | R PR %K | TR BR 3K | TR R 3
L& WETAABR [rurfriss A Brmseslans gnk |hRopEiE 45 45 45 45 40 5 0 0 0 0 0 0 0 0 0
(1TSS WETAABR [mrfrics A BrsEgEuaEs g% |[B1— 15K 40 40 40 40 38 2 0 0 0 0 0 0 0 0 0
(=) M AR R | A B aksans oak (F52— 255k 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
L& WETABR [murfrBcs A BrssgsuamEsank B3 — 25K 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
W& EE™ ARHAEAEHEE R RBA 5 [ICURSHE 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
W& EEm ARPRAEAEHEEHRITEAHE | AHE 12 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
W& BEm NBPEEANEHEE BRI A | SRERE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
W& EEM AWBIFEA BB AR ARG AR |4 B R 27 27 27 27 27 27 0 0 0 0 0 0 0 0 0 0
& BEm ARBEEAEREE BRI AR | DFEREIE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
=y BEm ARBEEAEREERRIRBAHR | CREHIE 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
W& BET ABFAEAEHEEBRITE A | 7REREE 48 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
W EEmH AREEEAERE ARG AR | SHEHRIE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
W& EEm ABPREAEHEE BRI A7 | OFSFHE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
W& EEM AWEEEAEREERARB AR [ 1ORE R 32 32 32 32 32 32 0 0 0 0 0 0 0 0 0 0
s BES b= TRV S 3P RAR 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
W& BET = TRV ABEER AR 39 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
& BET BEM IRk ABE TR 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
& BET BB AR T 38 38 38 38 0 0 0 38 38 0 38 38 0 0 0 0
W& BE™ AR — R 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
& BEN AR EERE 28 28 28 0 0 0 28 28 0 28 28 0 0 0 0
W& ZE™ BT AL E— 3P ERAR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& ZEH =R AAEA— 3P EE AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& ZEH BRI AAEA— ABEER AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& ZEH BB AA T Z— ABE TR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& ZEH EHEIAATEE— 5P B AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& ZEH IR AA T E— SR TR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& £ B AL E— 6 F& B AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& ZE™ BT AL A— HCUs#& 8 8 8 8 8 6 2 0 0 0 0 0 0 0 0 0
W& HEH EFHETAAEA— By 7R 25 25 25 25 25 25 0 0 0 0 0 0 0 0 0 0
=) ZEH HIERER XS AIHHEE| B RS 62 62 62 0 0 0 62 62 0 62 62 0 0 0 0
& LZEEH |EERAAEHS SR ARE|3MRE 45 45 45 45 0 0 0 45 45 0 45 45 0 0 0 0
W& LEHH |EERAAEHS UERARE| 4R 56 56 56 56 56 56 0 0 0 0 0 0 0 0 0 0
& ZEHH |EERAAEHS UERA K| SRR 42 42 42 42 42 42 0 0 0 0 0 0 0 0 0 0
W& EA™ HREmERIRER R/ 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& Pzl wEmRILER R2RH 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
WE HB™ R & m AR H3mH 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
& HA™ & m AR GRS 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
& HAB™ wErREIER [l 41 41 41 41 41 0 0 0 0 0 0 0 0 0 0
& b=l wEmEIRER EREL 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
W& BR™ RARF &R 2B 43 43 43 43 43 31 12 0 0 0 0 0 0 0 0 0
& EA™ RARF &R SRR 35 35 35 35 35 19 16 0 0 0 0 0 0 0 0 0
& HAT RSl EQREES 42 42 42 42 0 0 0 42 42 0 42 42 0 0 0 0
& E4™ WHBUNEYTF— 3wk 2B 41 41 41 41 0 0 0 41 41 0 41 41 0 0 0 0
=) =R WHINE)T— 3wk SR 41 41 41 41 0 0 0 41 41 0 41 41 0 0 0 0
& =A™ =B RER =gl 55 55 55 55 0 0 0 55 42 13 55 42 13 0 0 0
& EA™ =B RER EERE02 55 55 55 55 0 0 0 55 52 3 55 52 3 0 0 0
W& EA™ AP RER — R 54 54 54 54 54 48 6 0 0 0 0 0 0 0 0 0
W& BEIRER L TTHT | T ECE N E SRS E e | SRR AR 2R 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
& EIRER L TTHT | M T R A E Ak E ke | o AR 1 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
s EIREDILSTHT [T 7Bk A B RS SR |t S AR I RE 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
W& EEARILTTHT MR AE AR E R | TR iR R 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
W& EIRER L STHT | T ECE A E SRR B R | RakiE 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
W& EIEER L STRT | 4T ECE A E SRR E TR | RIbyR AR 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
W& =8NS PNV S EERR 45 45 0 0 0 45 45 0 16 16 0 29 29 0
& AR BT [FA BB — R 54 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
& SHEBRATET | EEEASTH S IEF TR | 3MERE 58 58 58 58 58 58 0 0 0 0 0 0 0 0 0 0
& SHEBRATE | EEEATHS EFI TR | 4FERE 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& B FET | SR R 2Rk el 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& A RTET | B A SRR ABERAR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
W& 2J1BBAFET | A 3 21195 19518 55 55 55 55 55 0 0 0 0 0 0 0 0 0 0
W& B EBAFIAT | 223 2115k 295 1& 55 55 55 55 55 0 0 0 0 0 0 0 0 0 0
& 21 EBAFIAT | A3 2R 3FEE 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
A-FEFE |FERT ERMI AR AR 45 45 45 45 44 1 0 0 0 0 0 0 0
Aig-EE  |EES ERMI IR Bimig 45 45 45 45 44 1 0 0 0 0 0
Aig-EE |EES ERMI SRR BEERE 30 30 30 0 0 0 30 30 0 30 30 0 0 0 0
AR |RET EERMIERPRER S ERE 50 50 50 50 44 6 0 0 0 0 0 0 0 0 0
Kig-FER  |FERET EERMIERBPRER ]\ =Ficp st 49 49 49 49 38 11 0 0 0 0 0 0 0 0 0
A-FER |ERT BRI E R RER 4BE TR 50 50 50 50 47 3 0 0 0 0 0 0 0 0 0
A-FER |ERT ER™ILE R R 4P BRAR 51 51 51 51 48 3 0 0 0 0 0 0 0 0 0
AE-FER |FERT ER™ILE R IRk SR PERIR 50 50 50 50 45 5 0 0 0 0 0 0 0 0 0

5/17




EREE

AR R - IR B R E

= E S

i

AR

IR

12144

RiRF

O—smER

QOFEERK

o, N - SEEBEEERRK SENEBEERK
R il LS ER R, B i / / / / /

RER o (=) REm B (EE) R B (E=) REm o (E=) e B (E%) FREREL | IRERE | R PR B | TR PRE | FR PREN | AR | IR PR3 | TR ER 3K | FR PR3 | R AR 3K | R BR R | TR ER 3K
PNRE S ERm ERMIALERDRERR 5B BUR AR 50 50 50 0 0 0 50 33 17 50 33 17 0 0 0
NSRS EREm ERH I ERRRR — MRt 45 45 45 45 39 6 0 0 0 0 0 0 0
KIgs- R EREm A 3 T 3 ZE BB BERE 30 30 30 0 0 0 30 27 3 2 2 0 28 25 3
KIgs- R ERM ERENMEAE S AERR|EERE 64 64 64 64 0 0 0 64 64 0 64 64 0 0 0 0
KIgs- R ERmM BB {EIRSS - IR H Y 2— | RERER 90 90 90 90 90 50 40 0 0 0 0 0 0 0 0 0
NSRS Nl —REEEAN FERRR — MR R 32 32 32 32 32 32 0 0 0 0 0 0 0 0 0 0
KIgs- R NG — R EEAN FERbR BEERE 40 40 40 40 0 0 0 40 40 0 40 40 0 0 0 0
KIgs-BEJR Nl —RETEEAN  EBRRDRR — IR 38 38 38 38 38 0 0 0 0 0 0 0 0 0 0
PNRE S KNI — R AN EBRRRR BERE 40 40 40 0 0 0 40 40 0 40 40 0 0 0 0
Kz - B[R KNI KEHmERRES S 9 3R IR (— MR iR) 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
K- R K KEmERRESS 9 ARER (R ERE) 30 30 30 30 0 0 0 30 30 0 18 18 0 12 12 0
Kig-FER | K& KT R Ekr S 126 — R 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0
NSRS Nl I 2Rk — AR ER 3B 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
KIgs - BEJR N U — IR ER 2B 53 53 53 53 53 53 0 0 0 0 0 0 0 0 0 0
NSRS Nl EfEAN #HH EES =mEk|3MHEE(EBRKRK) 40 40 40 40 0 0 0 40 40 0 40 40 0 0 0 0
PNRE I PN ] EEAAN #H ZES =REk | 2BEE(—REK) 39 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
KIgs-ER KBTI KT ERBREFERDRE | —HEE 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
KIgs- R K K RRREFER Db EEHUNEYT— 3 40 40 40 40 0 0 0 40 40 0 40 40 0 0 0 0
PNEEE N it NETERBRETFRERDRE |EEEERHE 40 40 40 40 0 0 0 40 40 0 20 20 0 20 20 0
KIgs- R K KGR Rk AR IR (GCU) 3 3 3 3 3 0 3 0 0 0 0 0 0 0 0 0
NSRS Nl K Rk 8P PRI AR 29 29 29 29 29 29 0 0 0 0 0 0 0 0 0 0
NSRS Nl K ik HE g AERIR(SICU) 12 12 12 12 12 6 6 0 0 0 0 0 0 0 0 0
KIgg- R KIB T KiIgtH Emkk BB RBARE) 18 18 18 18 18 18 0 0 0 0 0 0 0 0 0 0
KI5 - R KIB T KiIgtH BmEkk HRFER RS RAARE) 12 12 12 12 12 12 0 0 0 0 0 0 0 0 0 0
K- R K N ApERERE (NICU) 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
KIgs- R K K RRk ARE BRI 24 24 24 24 24 24 0 0 0 0 0 0 0 0 0 0
NSRS K KGR Rk AR PRIRIR 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
NSRS Kt K Rk ABEERRONR AR E R EERI) 19 19 19 19 19 19 0 0 0 0 0 0 0 0 0 0
NSRS Nl K Bmkk SRS BRI 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
NSRS PN 58] K BREht SRS PRRIR 39 39 39 39 39 39 0 0 0 0 0 0 0 0 0 0
KIgs-EJR pN 58] N OB BRI 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
Kz - R pN 58] K RREhk ERE PR AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
KIgs- R PN il K RREk PSR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
KIgs- R PN il K RRk TRE PR AR 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
KIgs - BEJR N Kigm BRkk S EE 34 34 34 34 34 34 0 0 0 0 0 0 0 0 0 0
KIgs-BER Nl EEENKICE XKICAFER |2BFEE 34 34 34 34 34 32 2 0 0 0 0 0 0 0 0 0
KIg;- R PN R EEENKICE XKICEHER |3FEHEE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
KIg - ZE & Kigsth ABHREAEHEE RS HIIETHE [ 2FE KRR 53 53 53 53 53 41 12 0 0 0 0 0 0 0 0 0
N Y= Kigsth ABHREAEREE RS TIIEIHE (MR 44 44 44 44 0 0 0 44 41 3 0 0 0 44 41 3
KNig-ER | K K EBEINERR EERE 57 57 57 0 0 0 57 57 0 57 57 0 0 0 0
NSRS K 2EHT H IR 3PE PR AR 50 50 50 0 0 0 50 50 0 50 50 0 0 0 0
NSRS Kt 2EHT H IRt PR 50 50 50 0 0 0 50 50 0 50 50 0 0 0 0
NSRS Kt 2&HT H IRt AR FRIRIR 50 50 50 0 0 0 50 0 50 50 0 50 0 0 0
NSRS KNI EEHTH IR ARSERRIR 50 50 50 0 0 0 50 0 50 50 0 50 0 0 0
KIgs-EJR KNI EEHTH IR SR PRI 50 50 50 0 0 0 50 0 50 50 0 50 0 0 0
Kk - R PN ] 2EHTH IR SRR AR 50 50 50 0 0 0 50 0 50 50 0 50 0 0 0
NSRS ZHERAH |EREAAMARELCSE RRERE |1 356 35 35 35 0 0 0 356 35 0 35 356 0 0 0 0
KIgs- R AR RO E REEARRRIR F1RHE 40 40 40 40 38 2 0 0 0 0 0 0 0 0 0
NSRS ERAZGEASH RO E REREARRRIT B2 40 40 40 40 39 1 0 0 0 0 0 0 0 0 0
PNRE S EHBEAHFATEREERRRR BEERR 41 41 41 0 0 0 41 41 0 41 41 0 0 0 0
KIg;- R EEHT == B W7 37 Fg R B — R 50 50 50 50 47 3 0 0 0 0 0 0 0 0 0
Kz - R EHHAT IR ERE 56 56 56 0 0 0 56 56 0 56 56 0 0 0 0
K- R EHHAT B IR JR T B2/ 53 53 53 0 0 0 53 53 0 53 53 0 0 0 0
KIgs- R & FRET ANYIESTHE — MR iR 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
PN HRE I £ FRET NI ANERBE BEERE 50 50 50 50 0 0 0 50 46 4 50 46 4 0 0 0
A% BX-SE | AET EfEEAN Ba AEO(VIVER | EER2MEHEE 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
BEBX-SIWE | BET EEEA EFLE ABHO/VILER | FmEIRHRE 60 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
BEBX-SIWE | BET EfEEN BECE AE0(VILRER | EHAEIMRE 60 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
BEBX-SIWE | BET EEEAN BCE A&0/VILRRE | BRE 50 50 50 50 0 0 0 50 50 0 50 50 0 0 0 0
BEEX-SIE | GET EgiAN #H S Eikmbkk | 2ARE 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
B B RWR|HET EfEAN #E CHs Ekmbk | 3ARE 36 36 36 0 0 0 36 36 0 36 36 0 0 0 0
A% BX-SE | AET EfEEA #H CHs BEEk|2BHRER 48 48 48 48 48 0 0 0 0 0 0 0 0 0 0
BE B SE|RET EEEAN 4 LS BEEnk|ERE 49 49 49 0 0 0 49 49 0 49 49 0 0 0 0
A5 BX-SWB | AET A& IR bREPE 40 40 40 40 38 2 0 0 0 0 0 0 0 0 0
B BX SR | EET REM IR SRS 40 40 40 40| 32 8 0 0 0 0 0 0 0 0 0
A5 BX-SWB|HBET AEHILRR Su=Fi] 40 40 40 0 0 0 40 11 29 40 11 29 0 0 0
BBk SR | BET REMIFER BRE B 40 40 40 40| 36 4 0 0 0 0 0 0 0 0 0
AE X SB | BETH HEMILRE TR 20 20 20 20 17 3 0 0 0 0 0 0 0 0 0
A% BX-SWA | /ST AER TR HCU 6 6 6 6 6 6 0 0 0 0 0 0 0 0 0 0
A% BX-SE | AET AERTFHREE 3fEE 46 46 46 46 46 46 0 0 0 0 0 0 0 0 0 0
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e o EE) R B (EE) fRF R B (EE) R o () R B (EE) FREREN | PR | TR BREK | TR ERE | R PRE | R PRE | PR3 | R BR R | R BR K | R PR %K | TR BR 3K | TR R 3
A& BX-RIE | BET AERTFHET 3PP 43 43 43 43 43 43 0 0 0 0 0 0 0 0 0 0
A5 BX-SWB|AET GERT+FRE AREER 50 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
B BR-SUR | BET BERTFRHRE AREPE 52 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
B BkK-RAE | BET BERTFRHEE EES 51 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
B BK-RAE | RET AERTFHRE Y= 53 53 53 53 53 53 0 0 0 0 0 0 0 0 0 0
A% BB | RET AERTFHREE =TS 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
A& BX-RIE | /ST AERTFRHEET BREPE 51 51 51 51 51 51 0 0 0 0 0 0 0 0 0 0
A& BX-RIE | BET AERTFRHET b3 38 38 38 38 38 38 0 0 0 0 0 0 0 0 0 0
A5 BX-SWB|AET GER TRk ICU-CCU 10 10 10 10 10 10 0 0 0 0 0 0 0 0 0 0
A5 BX-SWB|HBET GERTFRE BERIRE 24 24 24 24 24 24 0 0 0 0 0 0 0 0 0 0
A% BXR-SUAR | BET AEMIHERER SR —REE 25 25 25 25 25 25 0 0 0 0 0 0 0 0 0 0
A% BR-SWAR | BET ERZAMAREAAERESRR |2MEHE 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
A% BX-RE | /ST ERFACAREALERERRE |IEHFE 60 60 60 0 0 0 60 60 0 60 60 0 0 0 0
A& BK-RIE | BET EREZACARESAERESRR (4FEHRER 56 56 56 0 0 0 56 56 0 56 56 0 0 0 0
A& BX-RAE | RALET SULBT ILJRBE SPEfRIR 45 45 45 45 0 45 0 0 0 0 0 0 0 0 0
A& BX-RAE | RAET LB LSRR Gt 50 50 50 50 46 4 0 0 0 0 0 0 0 0 0
B EK- QB | LA LB LSRR 25 PE SRR 55 55 55 55 51 4 0 0 0 0 0 0 0 0 0
A BX-SAE | SALE T SUWLSB T S IRBT 3PS IR 50 50 50 50 50 0 0 0 0 0 0 0 0 0 0
AE EX A |SALET | RALBTILRERET ] =Pl @5y 49 49 49 49 43 6 0 0 0 0 0 0 0 0 0
AE EX A |SALBET  |RALBTILRERET 4BEEER IR 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
BE-BXSWB|RALET  |RALBT IR 4FEPEIRIR 58 58 58 58 43 15 0 0 0 0 0 0 0 0 0
BE 2R SWE|RALET | RALBTIIRRER 4BEALIRIR 57 57 57 57 57 0 0 0 0 0 0 0 0 0 0
A& BX-SAE | RAET R RHER SRR 60 60 60 60 60 0 0 0 0 0 0 0 0 0 0
A5 BX-SWE |RAET PN R 40 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
A BX- A | KALE T SALBE T I AE R — AR 38 38 38 38 29 9 0 0 0 0 0 0 0 0 0
A% B SE | E KT EirEEmEIIER F1RE 33 33 33 33 33 27 6 0 0 0 0 0 0 0 0 0
A BR-RAE | BXKT EurEEmREILHTER et 2— 53 53 53 53 53 12 411 0 0 0 0 0 0 0 0 0
A& BK-RIE | BXKT EEEREIHER EIA—T LT 7 B—1F-2F 40 40 40 40 40 38 2 0 0 0 0 0 0 0 0 0
A& BRI | BXKT B EEMERILHER BEIA—T I 72 5—3F 20 20 20 20 20 18 2 0 0 0 0 0 0 0 0 0
B BRI | BXKT EEERMRILFER EA—TIN T 7 R— 20 20 20 20 20 13 7 0 0 0 0 0 0 0 0 0
B BRI | BXKT EEERRIFER — B 70 70 70 70 70 5 65 0 0 0 0 0 0 0 0 0
A5 BRI | BXKT BHK I K ARFR 29R1E 49 49 49 49 49 0 0 0 0 0 0 0 0 0 0
BE Bk SR | BH¥TH BT S BiRk — R 69 69 69 69 58 11 0 0 0 0 0 0 0 0 0
A B RAE | B KT B ILE B YRR BEERE 30 30 30 0 0 0 30 30 0 30 30 0 0 0 0
B EK- QB | B KT BRI EKTRRER FERARE TR 31 31 31 31 0 31 0 0 0 0 0 0 0 0 0
A& BK-RE | B KT BRI EKTRRER AER 3P 20 20 20 20 20 0 0 0 0 0 0 0 0 0 0
A BRI | BXKT BATAEXTERR REEARE IR 44 44 44 44 44 0 0 0 0 0 0 0 0 0 0
B BRI | BXT BEAXAMIUEKXTRKER AERSREIRIE 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
A BRI | BXKT BAMIUEKTRKER AEROPEIRIE 52 52 52 52 52 0 0 0 0 0 0 0 0 0 0
BE Bk SR | BHH BAMIIEXTRRR FIREDPE R IR 29 29 29 29 29 0 0 0 0 0 0 0 0 0 0
A BK-RAE | B KT BRI E KT RKER FIEROPE TR IR 30 30 30 30 30 0 0 0 0 0 0 0 0 0 0
BE B SR |RAS™ B EERRT 2-3 53 53 53 53 53 47 6 0 0 0 0 0 0 0 0 0
BE 2SR |RAE™ HEERRT A 58 58 58 58 0 0 0 58 56 2 58 56 2 0 0 0
A5 BX-RIWE|EMET B EER ic] =} 41 41 41 41 0 0 0 41 37 4 41 37 4 0 0 0
BB SR |EMET EEEANSRE LA KR 3RERIE 66 66 66 66 66 66 0 0 0 0 0 0 0 0 0 0
A5 BX-SWE|EMET EfEENRE LA RR 2B 54 54 54 54 54 54 0 0 0 0 0 0 0 0 0 0
BBk RANE |4 ERRI = AT | B = RESRAR — R 40 40 40 40 40 0 0 0 0 0 0 0 0 0 0
A% Bk S | ASE R = kAT | B = [ESRER BEERR 50 50 50 0 0 0 50 50 0 50 50 0 0 0 0
19179 2,443 2,114 10,611 10,509 1,867 2,331 3,954 3,978 304 202 15,718] 14,963 755 3,461 3,183 278| 3,299 3,027 272 162 156 6

1/7




